m - Acklel

%gﬁﬁﬁ%ﬂm“ ”OW"N'QM(""’“
Toecselzc @ Voo, Ak
- Pbix PR
A. ﬂ]‘?} V)ﬂ Achleel + UOW‘Q""FPL abs ﬁng’ﬂ die %WVQL
Dok s
9. 1]’3" = Nonmwin me\ aliv T = I/a%@

TIIEOD = floren gl + § 255 TX5D = deine Goken

Y- D‘!,Dwﬂ 177?( NOW\M m’?&é(%— Aflea—)\/om? W\p( obos
' oc Heor des Ahomels

S. e
ﬂJV/ Ved Ak Pl gﬁ W sifeen = du lf\g\s}%zmsm

b. U_:) = Noten mSq + § 3mSy 73 = sein Solw

s AN = Veb Ak 34 Sq IO sdueiloen = Si¢ hat amdé\ricben
W . T
%. 73—_,53(\( L Vg AR 20 gC, Do - 55 = g bneor g
: , S 4 ¢ Pe = wnsere Kenige

117 ) Yy = Nomen m PL
5 3;)@ o 128 n ‘ib‘uﬂ - Vo P 3%2;@57;1

: AL _PGo 9+ S 4 ¢ Sq= 2 mi
10. b Pop - ¢Sy e 15@@ mppgs SUp

- o)
M. "’bpﬂ Vb P 2§ 529(; +o
B P = gua %bﬁ‘s i3 _(23 N 7@3 :
e AHVR = Vab AK feet P, AR s e
= Wi
mﬁ% ’ A0 17 YTW Noae Snfe + S2m
" ?l P pYr - %a?e, F@u\%
M. TIIN s fadled AN S e o
: sidz a‘ld-fvﬂom(%? = ‘}—%‘@‘ N AL 70'@ g}?«L{j

o ’fDW Ve @’(}aﬁd—mﬁﬂﬂb‘/ T“m B> ETS
ELo SWNL = gun Seb
X @

S Vb PR YmS X
= e Qw(o?



